TFZE

TRHFEEERFERR—IYHBERFEEFFEAR
BEr : ER2996A18 (K) ~6848 (H)

15T BERRBHES

* BREES

T BAZES A JILHGEER BRI

< BEsEBRXY > 1 @ A&E  27193.8 A
STEE|STEE|  10mS40 ST | S2 | S3 | 4  BR X% &
A |28 | tEBERE = 199.0]99.2]100.1]99.4 397.17

B [ 29 fE % [99.8]101.6[101.2{100.4 403.0 1180.8
[ C [ 25 [BA W3#4[97.0[08.1]/06.8]88.2 380.1 |

BIEE B/ 50m3x20 | KI_| K2 | P1 | P2 | S1 | 82 | @A [XDW| _&F
a | 28| wWE = 88 | 90 | 94 [ 96 | 85 | 86 939 9

b [ 18 | F% Y= | 87 | 88 | 98 [ 93 [ 89 [ 81 536 8 1613
b | 33 | LB ZFE | 95 90 [ 95 94 | 82 | 82 538 8
< B > 2 Bast 11944 A

TEE | GIEE | _ 10mS40 ST | S2 | S3 | sS4  BA XOB] &
A 119 | &5 KT [98.9]103.0/98.3[99.9 400. 1

B [ 20 | ki F* [97.4]98.3/96.1[99.2 391.0 1194. 4
C | 17 | Bt #a% [100.499.4]99 311042 4033

BTEE| 5| 50m3x20 | Ki_| K2 | P1 | P2 | S1 | 82 | BA [XOWK| &
< HALFERXE > 3 Rest 17145 &
BB GiEE]  10mS40 | ST | S2 | S3 | o4 En X% &t
A 129 78 #Ea [95.8]93.6[97.8]103.2 390. 4

B [ 30 [fniE &Y 95.6[95.9]98. 7(90.1 380. 3 1174.5
C | 27 | #=m ;= [99 2[103 7]100.2[100.7 4038

BRI B/ 50m3x20 | KI_| K2 | P1 | P2 | S1 | 82 | BA X0k &
< BRTRAE > 4 LEEt  NN1 &
BEE B0 10mS40 | ST | S2 | S3 | o4 | Em X0 Z&t
A 118 [ /hE HBZF [925]92.9[9/7.8]97.5 380. 7

B [ 19 [ Eill ¥ [95.3[95.8[99.7[99.8 390. 6 1171.1
C_| 156 |[AfFEM w1t 98.3(101.5] 99.5[100.5 309.8 |

SIEE | SIEE|  50m3 % 20 K1 K2 | P1 P2 [ Si S2 | B8 (X% &Et




< HEEFAE >

5 f LEE  1129.5 5
BIEE |G| 10mS40 | ST | S2 | S3 | o4 BE 0B &5
A [ 17| BH =& [91.0]93.6]89.7]01.0 366. 2
B | 16 | Jem 2= [92.8[89.1[950]929 369. 8 1129.5
C | 14 | &4 #B&E |94 4101 0] 97.9]100.2 303.5 |
GEE|GIE| 50m3x20 | Ki | K2 | P1_| P2 | S1 | S2 | @A |XOW| &
< BEZFEREXE > _ _
BIEE |G| 10mS40 | ST | S2 | 83 | o4 BE XOW| B
A |31 | B BX DSQ
B | 32 | Bim T4 | 98396 4[100.5/99.5 304. 1 DSQ
C | 28 | #AA &B [102 5101 _1]101_7[100_] 4054
BIEE|Bi%| 50m3x20 | KIi | K2 | P1 | P2 | ST | 82 | BmA |XO&K| &5




